BbilYUCAUTE:

log181 =
2
log111 —




[locTpoUTE CXEMATUYHECKM:




Hamnante obAacTb onpeAeAeHuns

OYHKLLUMU:
= loge(x* — 13x + 12)




Tema: CBoUCTBA AOrApUCPMOB
log a" =r; a'©9qsb = p.
log,b-c =log,b+ log,c

log,b:c = log,b — log,cC

log,b" =rlog,b

log,t = log,s @ t=s




a) log 12+ log 3 =

3 =
b) log, 2+ log, 1







a) (3lg2 —1g24):(lg3 + 1g27) =

b)( l0932 + 3log30,25):(log328 . 10937) —



BbiImMOAHUTE B rpynne:

Ne 43.7, Ne 43.9(s, 1),
Ne 43.12(B, r), Ne43.13.



[lpoBepka:
Ned3.7 : a) a+1; 6) m+1.
Ned3.9(B, r): B) x=-1; r) x=-3.
Ne43.12(s, r): B) 4; r) 1,5.

Ned43.13: a)4; 6) -1,5; B) -12; r) 3.



UTOorun ypoka:

AOMALLUHEE 30AQHUE:

N3y4umTb §43, PA300PATH AOKA3ATEABCTBO
CBOUCTB AOTAPUMTOMA.

BbIMOAHUTL MMCbMEHHO: Ne 43.6, No 43,10,
No 43.12.




